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Instructions for the candidates :

Candidate must enter hi_s / her
Question Booklet Serial No.

(10 Digits) in the OMR Answer
Sheet.

Candidates are required to give their
answers in their own ‘words as far
as practicable.

Figures in the right hand margin

-indicate full marks.

15 minutes of extra time have been

allotted for the candidates to read
the questions carefully.

-

This question booklet i divided into

Luo.'a'/(pmsqesq'mMM,f/:sduq

Q‘é"!ﬂ'ﬂa‘-ﬁ"! wo sections — Section-A and
Section-B,
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qTE - o / SECTION - A

T e g W 7oa§;$‘ﬂ@3rm$‘mwﬁm%qwﬁé Rt & e wat &1
mmﬂ:}wﬂﬁﬁmaﬁ omvﬂa'wf%?ﬁ?ﬂaﬁlﬁﬁ?aswﬁmaﬁ?é‘r

Question Nos. 1 to 7, = . 35x1=35
. 0 70 have four options, out of which only one is correct. You have to

mark your sefe?ted Option,. on _rhe' OMR-Sheet. Answer any 35 questions. 35x1=235
1. SERE H g g
(A) CO, L | _[B]' Hy |
(C) CH, | D) T @ wh =
Biogas contains - o @
(A) . CO, Lo B) H, g
(C), CH, - (D) All of these <
G L U o o
2. HifgT-3ier foFe sraen H e ¢ 2 &
. - w
(A) HRRH - o (B)  OTECRRREANE g
() HeRH (D)  SHHEATH g
" In which stage does crossing-over take place ? | | 5
(A) = Leptotene o (B)  Cytokinesis
(CL Pachytene (D)  Diakinesis
3. dlodlodRo @ feFgeh! Sirer giedl & 2
(A) HIV&E (B S UTH
© EWH | (D) W
PCR is used to detect ‘ |
(A, HIV - (B) T.B.
(C)  Cholera - (D)  Cancer
[ 119 ) H [(Aj-9009-Hgs)] ~ Page3of24

https://www.bseb study.'c om



wod Apnsqasq mmm//:sdyy

https://www.bsebstudy.com

e S T AR & ot o s S & v 7T P €
(A) T (B) @HERAAA
© TR o) A

. This pro i
Every living cell of plant can give rise to the whole plant This p PETLy is

known as -
(A},  Cloning (B) Somaclonal-
(C)  Totipotency (D)  Allof these
aﬂgﬁaﬁf—ﬁ oyl & yorary | Tﬁfi?ﬁ Eil G % ?
(A) - (B) 2n '
© 3n ' (D) (a) R (C) AT
What is the ploidy level of chromosomes in endosﬁerﬁl of angiospermic plant ?

(B)— 2n

(% o (D) - both (A) and (C)

ﬁawﬁfqﬁmﬁrwwmﬁ% ﬁﬁrﬂ??ﬁTGﬂﬁT%

W e B e S
© (@R @ D) iR e
When offspring is formed by single parent, it-is caJJedwas _
~{A)  Sexual reproduction - B (B),  Asexual reﬁroduction
©)  Both (4) and (B) (D) Internal fertilization
T g TR W TEE 2
& 21 | : . (B) :_;3'
©) a4 | D) 46

\H’hati of . 7
8 the number of thomosomes present in hurnan gamet
. €8s

(A) 21
C) 44 . "
e D) 46
S o
age 4 of 24
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5. o Q i o 3 @R el ) ¥

(A) g (B)  FFGUST
€ fewdfmr o) e
Which of the foﬂowing is not a vira.l diéease ?

(A)  Mumps - ' {B) Influenza
(C) Diphtheria ' (D) Measles

0. Frefean # @ weyer  wRef 1 & 2
(A) W'W _- B TP T |
(C) H=H | | | {b} Eﬁléﬁa?@ﬁ?
Which of the following is not included in animal husbandry ?
(A) Bee-keeping. - | | | (B) Poultfy fa'r_miﬁé

(C)  Fish farming o (D)  Organic farming

o, Frfian  freen s AR 3§ 5

wod Apnysqasq mmm//:sdny

(A)  ©IEH U (B - Fo o AEw
(C) RHT eed | D) T Hig
‘Who among the following is not related with microbiology ?
(A.) Louis Pasteur ' | (B) J.D. Watson
(C}  Stephan Hales " (D)  Robert Koch
[119 | H {A)-9009-Hss) | Page 5 of 24
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I ey T wrar v ?

.ﬁ,
(A) TH-HRTAT H m AT =&l
: i @
(C) HT-3IARTAT 7 (D) 4
Anticodons are found in
(A) m-RNA (B). t-RNA

(C)  rRNA (D)  None of these
12.  Heer 7 uigmika Re | |
(A)  WEET T (B m‘ﬁw &1 frag
© (a) R (B) T | (D) T E R
Mendel proposed o ' ' o
(A) Law of linkage (B), Law of inheritance

(C)  Both (A) and (B) (D) None of these

13. W%fﬂ@ﬁﬁﬁ?ﬂﬁ% ?

-

(A)
© FTFRFIEAHR T 0 A
Law of segregation is also kn'own as’ , _
(A) Law of dominance - - (B} Law of independent assortment
(C)  Law of purity of gametes (D)  None of these

14, ?ﬁﬁﬂﬁa’f%ﬁﬂ‘mwwﬁm%

&) wigafer

© o
Which of the following
(A) Competition
©

[ 1.1'=9 ]'.

- |

Isolatiop

(B) SR
(D) TR fafowen
factors is important in the formation of new species ?

B). Mutation

(D). Continuous variation

WO Apnysqasq mmm//:sdny
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15, P F @ & Sewedt gy € 2

(A) ST B)  Avehr
(©)  (A) R (B) 3 | D) srfger
Which of the following is/arc inscctivorous plaﬁt[s) ?
(A) Drosera (B) Nepenthes
(C) - Both (A) and (B) (D)  Hydrilla
16. = o | $iF vl wof € 2
(a) | B) W
(C) (A) AR (B) IAT - (D) = Hgew
Out of the folloﬁng-which one is hermaphrodite organism ?
(A)  Hen - ~ (B) Snake
(C}” Both (4) and (B) | (D) Earthworm
17. FRer A A wE 2 | |
P R
(€ WRNHEm - : (D) U SR W
Chlorella is a type of | | R ) '
(A) . Algae o !9}- - Bacteria
(C)  Protozoa ' (D) Single cell protein
18, ‘wrE-oi’ sieipi & R wEet S s € 2
(A) U - - (B) dH
© M - (D) W
'Cry-gene' prevents which crop from bollworm ?
(A) = Cotton - (B} Tea
(C)  Mango (D) Wheat
[ 119 ] H |(A)-9009-Hpg)| ~  Page70f24
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19.

20.

- 21,

n.
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b 4 e e A AT HE D

a T 3R wEeR
© we SR o

Purinc basecs of DNA arc
(A)  Adenine and Cytosine
(C)  Adenine and Guanine

SR rmFRU A TA S ?
(a) ST ERT
© @R @)

Cancer is caused by
(A)  Bacteria
() Both (A) and (B)

g TS A 97 O ?

(A) T ySET
©  (4) AR (B) QT

Which one of the following is possible in

(A)

Asexual réproduction
(C) . Both (A) and (B)

TR Gomd &

(B)

(D)

B
(D)

(B)

(D)

(B),
(D)

(B)

(D)

- None of these

TR T

W@ﬁqaﬁ’(ﬂl’ﬂﬁﬂ
= § &g Tl

Cyfosin;: and Thymine

None of these

T | ®IE Rl

Oncogenes

T W ®E @

wod Apnysqasq mmm//:sdny

micropropagation ?

Bl

(D)

Sexual reproduction

None of these

‘Endonuclease

Polymerase.
___—-'""'

Pa@&ofgq.
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03, T FE A G T e &

(A)  TART I (B) WIS @I
(C) wRRgfos o =t (D) (A) &K (B) g1 =T
In National Park, protection is provided to
(A)  Flora " (B) Fauna
(C)  Ecosystem (D) Both (A} and (B)
24.  Tgilgs Seqche e e ¥ o
(A) IR B EER
() FEERY D) A W -
= | - C : =
hg Secondary productivity is related to _ ' E
= (A) Producers (B) Herbivores ;‘:
é (C) Carnivores (D)  None of these é
§_ 25. R F W @ E I | g
g}' (&)  Feel gY H B fwE @ wT B 100°c FFw Z
. _ _ . o
c- : . o =<
g (€) Tt ot ®er &l 70°C W (D). ¥ ¥ =g T g
= ' - , . - =
3 Pasteurization is heating of o -
(A) milk only | (B) - any quuid above 100°C
(C)  any liquid at 70°C’ " (D) none of these
26. - WAl g & |
(4) TE-RRA B e
(C) ﬁ?ﬂﬁﬂ_ D)  FE-ERE
The wall of pollen grain is
(A)  Single layered (B} Double layereq
b (C)  Triple layered (D) Multi-layereq
; ['119 ] H [(4)-9009-Hgs) Page 90f24  ——
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. ferp tengye qere v B

- LT A &
A gtﬁ‘h e 2 Ve

: N T
() 1';;#111': e ey ,

7 hempthnevty nrjivptee fren

(T¥y Gy i
(Al Fiene PHEETOW 3y Qetnmavh
A i
(< ThHymue iy Fiver

M peont e s s b

(A} Ham 49 {8y E. colt
@A) R gy oA (D Hindl 11
Nauree ol EcoRl enzyme s :
(A Bam K1 i) Eeol
e Bath (A} and (13) ij Hindl L

26 dmami
AL EEE §E B3y WA sin
© =g D) T W FETE A
Echndna s
(A Caonnecung hink t8)  Vestigial crgan
(C Exunet hink (D Nane of these

30 TEF
(Al = HATA B, WEIYE YR

Dodo is

(A)  Extine SPoges

{C}  Threatened SPecity

£ kEndangereq Species
L) Nong of these

- {119]H ]A iy “ﬁ _ _ o
b ! ! (-J_,(f_[i?_{{‘_lj[m Page 10 of 24 IR
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frgms 41 61w fprjrre thras I

3
PYRE L s W g
(') Tnaen oy gk o il
Wi b il he Triliowineg 1t s SHpIIL asprthpes 3
A T Y Wrdimphk ety
i) Eat Al e Al af thess
an e A @ whn i owfighee BV
(A ane gy s
T yiiom: (141 @M
Which one i hydrophytic plsnt 2
M Trapa iR Opuntia
() Dalbergia {th Acucic
33w sttt ol wrd R
(A} FIM R » a5 et o
(C; sizwm A Dy 5FA B
Sertoli eells are found in
(A} Tesus (B} Uterus
(€} Ovary Dy Liver
34. W (Y6R) A TG B w6 ¥
(A) A4~ XX B 44« XY
(C) 4d+ XY By 46 » XX
Number of chramosomes in hwnan being (male) is
(A) A4 + XX B 44+ Xy
IC} 46 + XY (D) 46 + XX
| 119 ] H [(A)-9009 Ty Poge 11 of 24

https://www.bsebstudy.com

wod Apnysqasq mmm//:sdny



35. .
(B) O S
(A)  378H
() IJW TR Ly
Rhino sanctuary is located in which state ?
(A)  Assam (B)  West Bengal
(C) Uttar Pradesh (D) Bihar
36. HRUAU & CIIgﬁli:lI\S:i o g Al %- '
A) © wEE ud arEie B) TN e A
_. ( Wi o e (D) . e T e
ét Pyrimidines present 1n RNA are o
;‘-11 (A) Cytosine and Thymine (B) - Adenine and Guanine
§ (C) ~ Cytosine and Uracil (D) Thymine and Uracil
3 37. et GASH el 1 39anT fhae ot Tt glar & 2
& |
o :
2 () TewiR | (B) e
=
<
g (C) THEEES (D) T 9
= Triple antigen vaccine is not used for |
(A)  Diphtheria (B)  Pertusis
{C!/ Typhoid ' (D) ‘ Tetanus
38. 1= A & dires T w@F € 2
(o) T B) FRIEARIHE
.l -
©) A e D T
\[v'h'hich of the following is not a greenhouse gas ?
A) Methan ' '
O oo e (B)  Chlorofluorocarbon
"'_]‘._"—"'---.. ° _ (D) Nitfogen
[119]H (A)-9009-Hzg
—— 0 | Page 12 of 24
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41.
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wT U 3w wlag 3

(A)  Tefedl % fag @ At ¥ oo

© ' % e my  wferer & fan

Kanha National Park is famous for

(A) Birds (B) Tigers

(C)  Rhinoceros (D) Crocodiles

=1 | w9 aRR Sae w1 € 2

(a) =W, g 3R 3w (B) s, TR R
© =, T IR IR (D) UM, FOT AR TR
Which of the following is the correct food chain ?

(A)  Grass, Wheat and Mango (B) Goat, Cow and Grass
(G}~ Grass, Goat and Lion (D]' Grass, Fish and Goat
feeraians &

A) YR+ THTEHIEI () TR +HE
(€) RIS T §9F + B . (D) ¥ ¥ HIg 7w

Nucleoside is | |
(A}~ Sugar + a nitrogenous base (B)  Sugar + Phosphate
(C) Nitrogenous base + Phosphate (D}  None of these

fte frmfor = Fed €

42,
a) IR (B) WigIEEREE |
€ wRSARE (D) ¥ | FHIS &
The process of formation of gametes is called
(A)/ Gametogenesis (B)  Cytokinesis
(C) = Sporogenesis " (D) None of these
[ 119 ] H [(A)-9009-Hes) Page 13 of 24
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¥ 2
- = (3 | I
siyea 91gE 34 yafer HL . iy o TR
a5 TSl : .
a) o) S e
(C) T & i‘lﬁ?ﬂ
. {? ,
What docs opcronl model represen (B) Gene expression
(A) Gene s_vnthcsis . D) Gene function
(C) Gene regulation _
. 7

fr @ Reges qoargd @Al AT &

(A) IIAE (B) qa

© A o) ¥ & wH
Thalamus is edible part in which of the following [

(B) Apple

(A) Annona
(C)  Orange (D)  All of these

e B & @ oo R E 2 |
@A) e - (B) éﬁiﬁ‘ﬂ}‘ﬂﬁ

- (©) '(AJsﬂﬂB}Eﬁ - (D) wﬁrﬁéqﬁ

DNA is genetic material of hllps:/;’www.bsebﬁudy.com '
(A)  TMV i

(B)  Bacteriophage
(€} Both (A) and (B] . (D) None of these

(B) Bidirectional
(D) - None Rf these

Page 14 of 24
https://www .bsebstudy.com
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e § @ ® Tw e @ Y 2
(A)  SlEERY B)  afgera Qﬁﬁm
©)  oer | | (D) e

Which of the following is not a biofertilizer |
(A)  Azotobacter ' (B) . Bacillus thuringiensis
(C)  Azolla : (D)~ Clostridium

mmmwmm&mm%?

Ay = (B ®

© ®e _ (D) T
Tuberculosis is transmitted by _

(A)  water (B) Air

(C) Insect | ' (D) Contact

W @ . g -FE

© - wemm - D FEIE
Bio-reactors in optimal conditions produce |

(A) | Product T . '@)I | Organism

(C)  Medium | {D} - All of these

=1 9 @ e g @ SR S YUY S 2 -
() e B Riisew

(C) WEHE BN - D) T S

Which one forms endosperm after fusion with male gamecte ?

(A)  Oospores . (B)  Antipodals

_(C)  Synergids {PY”  Sccondary nucleus

PTORPRG[(A)-0009-Hes)| . Page 150124

h‘ttps //www.bseb study.com

wod Apnysqasq mmm//:sdny



https://www.bsebstudy.com

7 <) T FEAE )
51, Eﬁ?ﬂaa@,mﬁ'aﬁaﬁyﬁwmaﬁméﬂ%lE'HETZ'W$

A) uuefad B) SR

) IwRas o) T @ i |
. : enomenon 1s

One gene pair hides the cffect of another gene pair. This ph

{M . Epistasis (B) Dominance

lC} Mutation ' (D) None of thesc

52. WX SRGAU § T 9RO 4 8RS & w A gevEnd AR Figh 4
Sy €, 3W W FEd & 2

a) G (B) -G HISH

(C) TI-=EH (D) FHIA HISH

A scquence of three bases on tRNA which binds to mRNA codon is
(A)  Triplet (B) Non-sense codon

{C) - Anticodon (D) Termination codon

53, mmﬁmﬂmmmmg BT T >

(A)  WETRIST ®

wod Apnisqasq mmm//:sdny

(C) TaHIo] (D) ' %E Ilii J

The group of Wuchererig bancroft; Which caygeg fil

D ara in huyman being is
AT (B) Bacterig

https://www.bsebstudy.com
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55.

56.

3
N

S8.

https://www.bsebstudy.com

(A)  yafger |

(B)  FHa ® Y
c
[} (D) @ 3TqegE

An exception of Mendel's law is

(A) Dominance
GEER LT ST o
| (B) &

(A)  TEHEE

() wRfE - | (D)  Towforg
Which of the following is a sexually tfansmittcd disease .?
(4)/* Typhoid ) (B)  Cholera
(C)  Malaria (D)  Syphilis

foret et o slirater @@ ST d 2

(A) . SRE®HF - - (B Fﬁa} |
(C) IRI® (o) wTHEE
Aril is edible in which of the fqllowihg fruits ?
(A)  Myristica, - (B Litchi
) Annona " _ (D) All of these
SO, YgHYT HT YT & _ |
@ e | (B) T
©  waw | (D) 9 9w
Mdicator of §0,, pollution is
) Algae . (B} Lichen
© Fung (D) All of these
\\\__ .
IH {A]*9009-H[33, " Page 17 of 24

https://www .bsebstudy.com

(B)  Purity of gamete -

_Winkage (D] _

- Independent assortment

\
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59.

60.

61.

62.
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T AyHeRd!

Cycas '
(11975 D

(A) a0 q‘ﬂ'qa@'} . (B)

) e e D @R e A
Honey is made by

(A) Male honeybee o (B) Queen honeybee
(C~ Worker honeybee _ (D)  Both (A) a_nd (B)
Rrrifera & -t st it o B ¥ 2

(a) & B) TE

() (A) AT (B)IAT (D) @
Which disease is found in hen ?

(A)  Cholera _ N (B) S1:nut

(C) Both (A) and (B) | D) Ranikhet
Teelt TS ST T 3T TR gt S WA | ST ST @ 2
() g | | ) B) SR

© fomp | T

- The flour of Idli and Dosa is made by the use of which microbe ?

(A)  Bacteria . _ (B)  Lactobacillus
(C) ' Virus | @J/ © Yeast

mmmmm? -.
| -

(A e )
l‘tlig}rﬂosae i8 extracted from
[q Maize - (B) Sea weeds

None of these

198) Page 18 of 24

https://www.bsebstudy.com A

\\_\—

wod Apnysqasq mmm//:sdny



wod Apnisqasq mmm//:sdny

https://www.bsebstudy.com

63. aﬂﬁﬁwmﬁwﬁamen?

(A)  SIZEA T i B) fa=eat

(C) SHIE T HiTe D) T Q@ HIE &l
Operon model was proposed by .

(A)  Watson and Crick (B) ~Nirenberg
[QD< Jacob and Monad =~ - (D) . None of them

64. wwmﬁﬁm% ?

Lu00'/(pm,sqésq'mmm,f/:sduq

(&) T S B R |
- fatshE - O) T wh A
Menstmal cycle occurs in- o |
(A)  Human' o (B) Monkey
(C) Chimpanzee h (D) -All of these
65. fatde fr o wer ST ¥ 2 N
Aa) e ° - (B R A
© @@ F - b FEIP
Binary fission occurs in
(A Amoeba - - (B) Paramecium
(C)  Both (4) and {13) ' (D) None of these
6. ST a0y WA 18% © it TSt &1 wfrwr = gvw o
a) 64 _. (B) 36
(C) 85 B ' (D) 32
In' a DNA molecule, the cytosine is 18%, then the Percentage of adenine Wlll be
@A) 64 B 36
__-———I-—/’—“CE/”]}T@& Page 19 of 24 T
i Q1 H (A’_—?P___ i
110 H [
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; ?
it udan e i 3 for fam A €

{_.‘.}..
I (B) rARE AT
(A) el A
D)
c) UEH (D)
Widal test is donc to confirm
(A)  Malaria (B)  Typhoid
(C) AIDS (E)l/ Cancer
o5, v Fra A few i W STHET ST E 2
(A) G-I (B) THIYTERT
© eitufeae S (D)  T-&CW I
HIV attacks on which of the following cells ?
& Beell (B) Teccll
(C)  Epithelial cell ([?)/ T-helper cell
69. TR er foreh wia wfeRen srfemar g¥dt €, 3% ed &
(A)  TeleH B 2
- i D) e

The substances to which an immune response is produced, are called
(A)  Allergens (B .

(C)  Antibodies

0. mﬁr%wﬁmaﬁwg

Vaccines
(D) . Antigens
—

e
' : B) e
€ (A) 3R (B) TR
Chemigg) (D) B'HT} ﬁ Eﬁ\l'é :rgﬁ

rileased due 10
A Histamine

€ Bt i ‘ ]
[119]g 2 (A 4gd ) B Serotonin
; (A ":'?Ol)t,;;,,‘]_lmaJ (D) None of these
Page 20 of 24

allergy jg
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@UT - ¥ / SECTION - B

Y IWg H¥T / Short Answer Type Questions

mm1#2ow3ﬁﬁa§'rﬁﬁ#mmémﬁfm#;%qzw

10 X2=20

Question Nos. ] to 20 are Shorr Answer Type, Answer any 10 questtons Each. question
carries 2 marks 10 x2=20

1. TS oEhs Hﬁﬁﬁg (H%‘{ﬁ%) T T it s ‘ 2

Draw a neat labelled diagram of a typical annbody

2. Gﬁa?aﬁ*amww% ? wﬁwaﬁmﬁﬁﬁa‘rm%ww?ﬂﬁ
ferteen ford | S ‘ | | | 2
Wl;at is biodiversity;-hotsplo_t ? Write down the names and specialities of two
such hotspots of India.

3. 3= ’QFFFT R ? |
What is inb‘réeding ?

4 - eSReel FUEH W YERT T |
Throw lighL on Klincfelter's sypdréme.
et A TEET & FRON B ford |
Write réasons for success of Mendel,

Deﬁne Couphng and Repulsion,

——
-..Ll 191 H @9009-H@ ~° Page 21 of 24

https://www.bsebstudy.com

wod Apnysqasq mmm//:sdny



10..

12,
13.
14,

15.

- Name any lwo cnzymeces rc

https://www bsebstudy.com

A SRR % fag s R w3 =t ford o uels & TR um

fafre et w1 i &

2

quired for DNA replication and mention one specific

function of cach of them.

e T § 7 T A ERT UieHl o S ¥ e e e 2

What is micropropagation ? What are the main advantages of producing plants
through this technique ?
e g W A
Describe transcription in blrief.
ST (Wﬁ)ﬁﬁwﬁa@uﬂaﬁi
.Expla;in Biopiracy in brief. _
st 1 & 2 ek T o T W T A S ol o w0 o
What is Amoebiasis ? Name its ‘causa.l organism and describe the symptoms of
this discasc, hllps:r‘}-W\j.-'w.bscbstudy.cnm
oS! 1 E 2 T TR o weT o ol w
What are allergies ? Describe its symptoms in brief,
Th & Il B ford /
Write the functions ;)1' blood.
reflaer A T E 2 v A oty
What is global warming ? Explain its effects.

SoTRosfto 77 WY STt |

Throw light on G.M.0O.

[119 ] H A oo oa
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16. W SR % I T F s @ Aifeher fent 7|

Draw a neat and well labelled diagram of transverse scction of human ovary.
17.  WEAe Royp el e € 2

What 1s test-tube babS: ?

18, T A 3 wRRe e # e A

Describe the ecological adaptation: of xerophytic plants.

19.  3Tehieet & GEIROAT 1 o HI | | | s

Describe the ill effects of alcohol.

N

Comment on Innate immunity.

e I weA / Long Answer Type Questions

_..in##@?m#zsah‘mﬁvnv#é‘rﬁ#aw#%aﬁ?%.'nﬁz?a?ér)'%v

5 siF Fraffee &1 IuT sfiEan 120 et & 719 wifiv 3x5=15

J Question Nos. 21 to 26 are Long Answer Type Questions. Answer any 3 questions. Each

question carries 5 marks. Give your answer in about 120 words.

3x5=15
h1. A GaYH W UF ey g | .
Write an essay on tissue culture,
2o, it vl 7 P 5 i et vt )
- Describe fertilization in flowering pl-anls.

Deseribe recombinant DNA technology in brief,

.—-_"—-"—-—_w-—-'-—-_ ki e —
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24.
25. .

26.'_" .
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i el e e e 1 7T

Describe three ecological pyramids with suitable examples.

o P 3 o P ) P Fat = fodr X
Discuss variou

" o e T 2 SO W TR QU H T T |

** What is pisciculture ? Mention its role in enrichment of our food.
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s methods of contraception for the population control.
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